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■　複素数の計算（冬休み前の復習）

例題 (1) (4− 5 i) + (1 + 3 i) = (4 + 1) + (−5 + 3) i

= 5− 2 i

(2) (4− 5 i)− (1 + 3 i) = 4− 5 i− 1− 3 i

= (4− 1) + (−5− 3) i

= 3− 8 i

(3) (4− 5 i)(1 + 3 i) = 4× 1 + 4× 3 i− 5 i× 1− 5 i× 3 i

= 4 + 12 i− 5 i− 15 i2

= 4 + 12 i− 5 i− 15× (−1)

= 4 + 12 i− 5 i+ 15

= 4 + 15 + 12 i− 5 i

= 19 + 7 i

1 次の計算をしなさい。
⑴ (2− 5 i) + (−5 + 4 i) ⑵ (−4− 3 i)− (−7 + 2 i)

⑶ (3 + 5 i) + (4− 2 i) ⑷ (−2 + 7 i) + (5− 5 i)

⑸ (1− 6 i)− (4 + 3 i) ⑹ (−2 + i)− (−3− 4 i)

⑺ (4 + 3 i)(2− 3 i) ⑻ (−1 + 2 i)(2 + i)

⑼ 5 i(4− 7 i) ⑽ (1 + 3 i)(3− 2 i)

⑾ (2− i)2 ⑿ i15

2 次の数を iを用いて表せ。
⑴

√
−2 ⑵

√
−23

⑶
√
−16 ⑷

√
−27
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